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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination, 2019 

LIFE SCIENCE 

LSE-07 : TAXONOMY AND EVOLUTION 

Time : 2 Hours] 	 [Maximum Marks : 50 

Note : Question no. 1 is compulsory. Attempt any four 
questions from Questions 2-6. Attempt five questions 
in all. All questions carry equal marks. 

1. 	(a) 	Fill in the blanks : 	 [4] 

(0 
	

Formation of new species from parent 

population is called 

(ii) is the fundamental 

operating mechanism for organic 

evolution. 

(iii) Aristotle started the work on 

taxonomy. 

(iv) Keys help in identification of 

and 

( 	) 	 [P.10.] 
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(b) 	Choose the correct answer in any four of the 

following : 	 [4] 

Kaziranga wildlife sanctuary is located in 

Jorhat, Assam/Calcutta. 

(ii) The basic language of Scientific names 

is Latin/German. 

(iii) The term flora/fauna of a place means the 

animals residing in that place. 

(iv) Dioecious/monoecious plant means male 

and female flowers on the same plant. 

(v) The information carrying molecules in 

plants/animals are called semantides. 

(c) 

	

	Match the items given in column A with column 

B: 

Column A 

(i) Na ked Seeds 

(ii) Verminform appendix 

(iii) Benthm and Hooker 

(iv) Funaria 

Column B 

(a) Moss 

(b) System of Classification 

(c) Vestigial organ 

(d) Gymnosperm 
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2. 	(a) 	Explain any two of the following : 	 [5] 

(i) Neotaxonomy 

(ii) Fossils 

(iii) lnterspecific sterility 

(iv) Type specimens 

(b) 	Write notes on any two : 	 [5] 

(i) Five Kingdom Classification 

(ii) Trends in Human Evolution 

(iii) Principles of Binomial Nomenclature 

(iv) Botanical gardens. 

3. 	(a) 	What is a key ? How are keys prepared and what 

useful purpose do they serve for a taxonomist ? 

[4] 

(b) 	Discuss the modern trends in taxonomy and 

discuss the use of electrophoresis in it. 	[4] 
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(c) 	Expand any two of the following : 	 [2] 

(i) ICZN 

(ii) IAPT 

(iii) ICNCP 

(iv) ICBN 

4. (a) 

	

	What is coevolution ? Explain with the example 

of coevolution of prey and predators or of plants 

and herbivores. 	 [5] 

(b) 	Name the three types of Natural Selection and 

write a few sentences on any two of these. [5] 

5. (a) 	Define species and speciation. Describe one 

mechanism of speciation. 	 [5] 

	

(b) 	What attempts are being made to improve the 

genetic endowment of humans ? 	 [5] 

6. (a) 

	

	Distinguish between Homologous and Analogous 

organs. What is a Vestigial Organ ? Name a 

vestigial organ in humans. 	 [5] 

	

(b) 	Give a brief account of evolution of horse. [5] 

	x 	 
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Warff fTrm (4t.g-fr.t.) 
fr-qt rittiff, 2019 

4r4 	 id ii 

	

gU•Tfr.t. -07 clPfc61 	 ffETT FORT 
: 2 Ert 	 61ftt73T 6,1" : 50 

AR Wft 1 6,1124-0 l g‘ 2# 6 4 tr 	wrT 
T4-11 QT1 	 tri*1 %-ff 	gr4 QTR tftql fiTfr 

t 	ilx11911 

1. 	(a) 	ftwr teal t if4 tftq : 	
[4] 

(I) 	WqW ItTfkgfr 	 Te49.  g9T 
.t*oicii 

(ii) w-41=4T f4Tr-fr 4 Tr-44 io Itzfritir 
ft WI 

(iii) amp ft 	Ofttur itzrr 
GTRPIT 	Eft! 

(iv) 1:1-64rff 
I Trdt 
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(b) 	Rq TR Wilq.  4 it-41 	w-qtt Trtt ,37R 

iftrq : 	 [4] 

(i) acm GlIzTRut 

GTurr/crricoti 4 Ito t 

(ii) karflqq, 9191 t 	Nt97\314,-1 ti 

(iii) N-41 teui 	 t cfritkAvtio/ 

	 t 	714 7A.  tl 

Cr##AT13T4tAiiitA,ii3Tt 4I cif Giet t 

FRT749774w7Ttt trr47 4 TT 

T9Ti 

(v) tkitr -1,31t 479T-clog) Grjail tAw 

ct>1 \Atli ti 

(c) 	1-0:f .A t atAff ti Tit Tra 1 c t 

3i d 	 i tilE1 	ftroR tfAq : [2] 

(iv)  
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2. 	(a) 	41 ciR 	i trft--4f tra i arrmr tft7 15] 

(i) 	icrq 4  

Irgrm 

(iii) 3#TRO:1  ~I c11 

(iv) AWE' 11 

(b) 	it4] 	ITT 	ltft17 
	

[5] 

(I) 	trrq.‘1. 	44tWur 14 II 

(ii) 	siNiq 	5rWr 

(iii) 	IttiqffR 	itwr 

(iv) 	cult-446n \i611-1 

3. 	(a) 	VW *Err 	 ? 	 147eli Aim 
? qi41c61N i t7 4-1-Trr ucrtlit g149 .  Te-r 

cbt 	? 	 [4] 

(b) *4 affriT *41t i T T ti 	\itl 
Lb -ati 	 EMT ti ft71 	[4] 

(c) fizr tf It41 	Wr 	 [2] 

(i) 	ICZN 

(ii) 	IAPT 
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4. (a) 

(iii) ICNCP 

(iv) ICBN 

trgcr 74 tiActxti err 	? %Tr( 	trrOft 3T4-4r 

RITTrfft TT ∎ Itul 	 tii15iIvi[5] 

417 	 (b) ATIT i MOT q'tyr 	9r 

if*4ft 	4 7 14Wrif Witn 	[5] 

5. (a)  7rro 	 f#1a71 fttt 
WIT t 	 14A11 zfiT C141 Tcritql[5] 

(b) 4 3Tcr4 33-1-4ftg 	4 77 cii; 

? 	 [5] 

6. (a) t1+1 ,311c1 74 TFIP 3111 	Tic q71 3r4E11 

at.  4:Err ? TrIGri ftt arlat 3trf Tr 9.17 

-dr-471 	 [5] 

(o) 	31.4 	it-T17 TT It171' ft47131' trN71 	[5] 

x 
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